#ReUE 3 5 (5 2 ZRBIFR)

ANFEBER X
HKH| 1370 X3 fes i g AL
T F 4 S D TR AR E S
(EX4)
T =L N TR
CEB OB L 72 55557
AFLEEFITH SFn 6494 4H
* A A BAE L) W2l | HIEL, i %
B =F 2568
H AL AL
(R A 15 2 2493 R

() EREAALEITHY

=
&
%‘

D10% = MNE U T B HEDN A I AR DM L7 D,



#ReUE 3 5 (5 2 ZRBIFR)

ANLFERKREE
| 1410 X5y FEEE S
I(%%Z)% YT Y A 7 VT T AR T > 2 — A T 5
TS S TLRT 2498/ 1 ) A 2 T T
(B 75 7)
AFLEHATH 64 98 4H
E wim | Mem | w3k o=

JFEREET 7 /02— (1) 16,300 WA

7.

() EREAALEITHY

=
&
%‘

1D 10% 2 A L 7- G EED HHA AR DM L7025,



#ReUE 3 5 (5 2 ZRBIFR)

ALEFERFRR

Fa | 1420 X5 Fe4 Wi AAL
T #= 4 O A/ o e A\ ¥
CEH4)
TG YT A AT E A
CEBOXTE & 72 DY)
AFLZEBITH S 64 9H 4H
EE A éﬁllil%H %2@ﬂq %SEJ?H 5 =
NECT74—NVT 17 miassE ALERE
N B\ 2 Z:%u
Rl S AN T 9,009 8,979 e
BER
BRy7'2 0,860 SIS
=4t B R
Dynabook® PU[E )k E1ES
(PN FER
A ST AT AR UE TRk
(MRDUEE T Hhae 2T Bk

() EREAALBIT G RE D10 % ZINAE LT FHDN AT AR DR £ 72D,



#ReUE 3 5 (5 2 ZRBIFR)

ANLFERKREE
| 1440 X5y FEEE S
I(%$éz>% TR A N — = VAR - CEILA VAT L% — AR HZER
TRt ST
RBOH% & 72 5570
AFLFEBIT B 64 9H 4H
¥ F 4 wim | Mem | w3k i
FRA 2 —T LA 2 395 RIE

() EREAALEITHY

=
&
%‘

D10% = MNE U T B HEDN A I AR DM L7 D,



#ReUE 3 5 (5 2 ZRBIFR)

ANLEBEBERR
&5 | 1460 X3 Fa4 wi g AL
T = 4 7 —EHAEWESERE (TR
(EX4)
TS T TP/ R (5 2
CEBOXTE & 72 DY)
ANFLE#IT H 0 64 9H 4H
¥ F 4 1 [E] i %ZTM %SIEIWJ o =
B =F 18.349
B 2 N3 L
(BR) A 55 17.893 W&k

7.

() EREAALEITHY

=
&
%‘

1D 10% 2 A L 7- G EED HHA AR DM L7025,



#ReUE 3 5 (5 2 ZRBIFR)

ANFEBER X
Hm| 1470 X5y fes i g AL
T %k 4 T — O
(EB4A)
TS T TJAZ O
CEBEORIE & 72 B
AFLEEFITH SFn 6494 4H
* A A BAE L) W2l | HIEL, i %
B =F 3208
H AL AL
(R A 15 2 3.096 R

7.

() EREAALEITHY

=
&
%‘

1D 10% 2 AR LT- A E0 A IR AR DAk 70D,



#ReUE 3 5 (5 2 ZRBIFR)

Va—U—X{ DHE>E

ANLEHEBRRX

wr| 1380 X5 RAEAaY

T %= 4 AHHEY — 2K (B H B E)

(¥EB4)

T 50T W= - TH3%&S5 5
CEBOXTE & 72 DY)
AFLZEBITH S 64 9H 4H

¥ F 4 %1@w %2E$H §ﬁE#H ﬁmﬁ

NX+TCY—A& T 7AF > AR ik B E T (331
AV 7 AHBYHER EA s REIR
(BB AT TF— K — R R
KR —2M w3k IR
BTy — 2 E3IES

S T
PEE A 15,660 =

ALERE

() EREAALBIT G RE D10 % ZINAE LT FHDN AT AR DR £ 72D,




#ReUE 3 5 (5 2 ZRBIFR)

Va—U—X{ DHE>E

ANLEHEBRRX
| 10 | K5y REA
T %= 4 B — 25K (V) )
(¥EB4)
TEHGPT WHT= - TH3%5 %5
CEBS ORI & 72 5 B777)
AFLZEBITH S 64 9H 4H
¥ F 4 EI%HEI%H ar%2lElﬂq EESIEIJ,FH Tﬁﬂmg
NXTCU—A& 7 7 AT ARR) B i & 27T TR
AV 7 A A BHER mis Sk LE1Es
(BB AT TF— K — R R
KR —2M w3k IR
‘) —2 FEIR
oS ﬁ%,—-—»
PEE A 4,200 =
MMLERE

() EREAALBIT G RE D10 % ZINAE LT FHDN AT AR DR £ 72D,




